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Quartz is an example of
(1) Inosilicate

(2) Tectosilicate

(3) Sorosilicate

(4) Cyclosilicate

Which of the following folds shows
two hinges ?

(1) Box fold (2) Aanticline fold
(3) Chevron fold (4) Overturned fold

Isopach are lines (imaginary)

(1) connecting points of equal
thickness of bed

(2) connecting points of similar
altitude

(3) connecting points of similar
contacts

(4) connecting points of similar
height of ground water

Crenulation cleavages are

(1) cleavages produced by first
folding

(2) produced if cleavages are folded
during second folding

(3) produced if second folding does
not effect first folding

(4) produced if there is third folding

Match List-I with List-II and select the
correct answer by using codes given
below the list :

List-I List-I
A. Joint 1. aline
B. Fault 2. Hinge
C. Fold 3. Displacement
D. Strike 4. smooth fracture
Codes :
A B C D
(1) 4 3 2 1
2) 2 3 4 1
3) 1 2 3 4
4) 3 1 4 2
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“Inclination angle of a fold axis, in
relation with the imaginary horizontal,
measured on a limb” is called

(1) pitch

(2) plunge

(3) interlimb angle
(4) apparent dip

If thickness of both limbs of a fold is
varying at every point, the type of fold
is

(1) parallel fold
(3) chevron fold

(2) similar fold
(4) box bold

The bedding and the axial plane
cleavage remain at a right angle to
each other at which place ? '

(1) at the limb of fold

(2) at the hinge of fold
(3) on vertical fault plane
(4) on inclined fault plane

Which is a Mullion lineation ?

3

which one is an

Out of these
overturned fold ?

(1

3)
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A dip slip fault on which the hanging
wall has moved up relative to the
footwall is referred as

(1) transform fault (2) normal fault

(3) reverse fault (4) parallel fault

Which is a fundamental unit for
naming the rocks in lithostratigraphic
classification ?
(1) Bed

(3) Formation

(2) Member
(4) Group

What is age of Deccan Traps ?
(1) cretaceous to palacocene
(2) lower cretaceous _

(3) Palaeocene to eocene

(4) Jurassic to cretaceous

Delwara formation is related to
(1) BGC

(2) upper Aravalli supergroup
(3) upper Delhi supergroup
(4) lower Aravalli supergroup

The mode of preservation of a
silicified fossil stem is called

(1) carbonization (2) petrifaction
(3) mould (4) imprint

A fossil with short geological age and
wide geographical occurrence is called
(1) living fossil
(3) index fossil

(2) ediacaran fossil
(4) tracks and trails

Which of the following is not a
principle of stratigraphy ?

(1) order of super position

(2) present is key to the past

(3) law of fossils

(4) law of lithology

Geological age of Mesoproterozoic is
(1) 1600 - 1000 Ma
(2) 3600 -2500 Ma
(3) 2500-1600 Ma
(4) 542-235Ma
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Age of Bundelkhand granite and -
closepet granite is

(1) 3600 -3500 Ma
(2) 3000 -2900 Ma
(3) 2600—2500 Ma
(4) 1700 - 1600 Ma

Sanu limestone belong to which of the
following geological time ?

(1) Pleistocene

(2) Miocene

(3) Carboniferous

(4) Eocene-Oligocene

On which of the stratigraphic group of
rocks, the fort of Chittorgarh rests ?

(1) Alwar quartzite

(2) Semri and Kaimur

(3) Jharol group

(4) Rewa and Bhander

The presence of Ediacara fossils in
Marwar supergroup has given it age as
(1) 745-680Ma
(2) 635-542Ma
(3) 680-635Ma
(4) 745-732Ma

Jaisalmer calcareous sandstone of
golden yellow colour belong to which
age of stratigraphy ?
(1) Traissic

(3) Cretaceous

(2) Jurassic
(4) Carboniferous

Mantle of the earth is having
composition similar to
(1) peridotite (2) granite

(3) anorthosite (4) kimberlite
Which of the following igneous rock
have high magnesia content and
spinifix texture ?
(1) Kimberlite
(3) Tinguaite

(2) Picrite
(4) Komatiite
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Which of the following rocks is
oversaturated, plutonic with quartz and
more plagioclase than orthoclase ?

(1) Granite (2) Granodiorite
(3) Diorite (4) Dacite

The necessary minerals to diagnose an
igneous rock, are called

(1) essential (2) secondary

(3) accessory (4) tertiary

“A group of metamorphic rocks of
varying composition, characterised by
a definite set of minerals which have
arrived almost at equilibrium under a
given combination of pressure and
temperature conditions” is called

(1) a metamorphic zone

(2) a metamorphic facies

(3) a metamorphic grade

(4) palingenesis

A metamorphic texture which produces
large crystals embedded in fine grained
groundmass are called

(1) granoblastic

(2) blastopsephitic

(3) granulose

(4) porphyroblastic

Which type of metamorphism is
represented by occurrence of crush-
greccias, micro-greccias, flaser-rock,
and mylonite ?
(1) cataclastic
(3) plutonic

(2) dynamothermal
(4) pneumatolitic

Granulose structure is present in
(1) Garnetiferous mica schist
(2) Hornblende Gneiss

(3) Kyanite Garnet granulite
(4) Slate
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What impurity is needed in limestone,
which can produce wollastonite during
metamorphism ?

(1) Alumina

(2) Silica

(3) Alumina and Silica both

(4) Magnesia

“Snowball garnets” are products of
which type of metamorphism ?

(1) Dynamothermal (2) Plutonic

(3) Pneumatolytic (4) Static

Marble generally bears
(1) Granulose structure
(2) Foliated structure
(3) Slaty structure

(4) Schistose structure

Among these which element is present
in highest quantity in magma ?

(1) Oxygen (2) Silicon

(3) Aluminium  (4) Iron

A texture of igneous rock, in which
most of the crystals are euhedral, the
texture is called

(1) Allotriomorphic

(2) Panidiomorphic

(3) Hypidiomorphic

(4) Granitic

Which igneous rock consists of more
than 90% of plagioclase feldspar ?

(1) Gabbro (2) Syenite

(3) Pegmatite (4) Anorthosite

Which rock is also known as museum
of minerals ?
(1) Granite
(3) Gabbro

(2) Pegmatite
(4) Lamprophyre
n.
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. A mudstone consisting of a mixture of

calcium carbonate and clay is called
(1) Dolomite (2) Marl
(3) Claystone (4) Chalk

A bed deposited during one year is
termed as

(1) Rhythmic bed (2) Cyclothem

(3) Varvedbed (4) Megacyclothem

Which type of sedimentary rock is
consisting of gravels, pebbles, cobbles
or boulders of rounded shape ?

(1) Agglomerate
(3) Breccia

(2) Conglomerate
(4) Grit

Heavy minerals can be separated in the
laboratory by using

(1) Bromoform

(2) Canada Balsam
(3) Hydrochloric acid
(4) Sulphuric acid

Match Table-1 with Table-II and select
the correct answer by using codes
given below the list :

Table-1 Table-II
A. Calcareous 1. Bacterial iron ore
B. Siliceous 2. Radiolarian chert
C. Ferrugineous 3. Peat
D. Carbonaceous 4. Fossiliferous lime
stone
Codes :
A B C D
(1) 4 3 2 1
2) 2 4 3 1
34 2 1 3
“4) 2 4 i 3
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‘Match Table-I with Table-II and select
the correct answer by using codes
given below the list :

Table-I Table-11
A. Rudaceousrock 1. Glacial
B. Flag stone 2. Breccia
C. Tillite 3. Sandstone
D. Clay 4. Marl stone
Codes :

A B C D
(1) 4 1 2 3
2) 2 4 1 3
3) 2 3 1 4
4) 4 3 2 1

What is called “post-depositional but -
pre-metamorphic changes in
sediments” ?

(1) only compaction
(2) cementation only
(3) diagenesis

(4) transportation

Which of the following zones'is absent
in soil profile of desert ?

(1) A ) B
3) D 4) C

Which of the following districts of
Rajasthan has high fluoride content in
the ground water ?
(1) Nagaur

(3) Alwar

(2) Karauli
(4) Dhaulpur

When did ‘great oxygen event’ occur
in geological history, around ?

(1) 4000 — 4100 Ma
(2) 30003100 Ma
(3) 2500 —2600 Ma
(4) 542 Ma
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Jhamarkotra rock phosphate deposit
mainly occurs in association with
which rock ?

(1) Schist

(2) Dolomitic limestone
(3) Quartzite

(4) Slate

Which of the following economic
mineralization set komatiite rock may
host ?

(1) Magnetite — Chromite

(2) Rare earths — Chromite

(3) Lead — Zinc — Copper

(4) Copper — Iron — Nickel

Which of the following minerals can

make diamond mesh = boxwork
structure in Gossan ?

(1) Molybdnite  (2) Bornite
(3) Chalcopyrite (4) -Galena

Fire proof cloths can be made from
(1) Wollastonite (2) Talc

(3) Gypsum (4) Asbestos

What is genesis of ‘Blue dust Ores’ ?
(1) Hydrothermal

(2) Residual concentration

(3) Volcanogenic

(4) Contact metamorphism

Liquid immissibility in magma may
occur in between

(1) Oxides and Sulphides

(2) Oxides and Silicates

(3) Carbonates and Sulphates
(4) Carbonates and Arsenites
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What is Carnotite ?
(1) Thorium ore
(2) Uranium ore
(3) Manganese ore
(4) Tin ore

Match Table-I with Table-1I and select
the correct answer by given codes
below :

Table-1 Table-11
A. Thar Desert 1. Naga thrust
B. Katagenesis 2. Lignite
C. Digboi 3. Origin of gas
Petroleum field
D. Palana 4. Calcrete type
Uranium
Codes :
A B C D
(1) 3 4 1 2
2) 2 4 3 1
3) 4 3 1 2
4 2 3 1 4

Which of the following mineral has no
relation with copper ore ?

(1) Bornite (2) Chrysocolla
(3) Covellite (4) Allanite

Gypsum is not used in
(1) Fertilizers

(2) Surgical plaster
(3) Pottery

(4) Lime

The first earth resource technology
satellite was

(1) LANDSAT-1

(2) SMS-1

(3) TIROS -1

(4) ATS-1
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(1) 1970
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@) 1972
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In aerial photographs, which rock
shows characteristic motteled texture ?
(1) Granite

(2) Carbonate rocks

(3) Gneiss

(4) Volcanic rocks

the
enhancement can be achieved by

M
)
3
4

In remote sensing, image
density slicing

differentiation

inversion

image coding

Which of the following does not make
a ‘lineament’ in the satellite imagery ?

(1) Topographic alignment
(2) Vegitational linears
(3) Geological faults

(4) Structural dome

What type of imagery is best for
agriculture monitoring with precision ?

(1) Hyperspectral Image
(2) Superspectral Image
(3) Multispectral Image
(4) None of these

In which year the first Earth Resources
Technology Satellite (ERTS-1) or
Landsat-1 was launched ?

(1) 1970 (2) 1972
(3) 1975 (4) 1978
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A satellite orbit so selected that the
satellite passes over the same ground
track at the same local time each day is
known as

(1) Geosynchronous orbit

(2) Sun synchronous orbit

(3) Geostationary orbit

(4) None of these

What is ‘Aquiclude’ ?
(1) Permeable formation can neither
hold nor transmit water.

(2) Impermeable formation which can
hold but cannot transmit water.

(3) Permeable formation can hold and
transmit water.

(4) Impermeable formation can
neither hold nor transmit water.

In an unconfined aquifer, the upper
surface of zone of saturation is called

(1) Piezometric surface
(2) Water table contour
(3) Confined aquifer
(4) Perched aquifer

Palaeochannels of lost river Saraswati
cannot be utilized for

(1) Recharge of ground water

(2) Production of hydro electricity
(3) Production of ground water
(4) Agriculture

Percentage of void space to the total
volume of the rock is called

(1) Field permeability
(2) Lab permeability
(3) Safe yield

(4) Porosity of rock
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Name the law which states “The flow

rate through porous media is
proportional to the head loss and
inversely proportional to the length of

the flow”.

(1) Law of Overdraft
(2) Darcy’s law

(3) Ghyben’s law

(4) Law of steady flow

What is called the water stored in
saturated zone ?

(1) Vadose water (2) Ground water

(3) Plutonic water (4) Connate water

A nearly impermeable rock formation
which neither retain nor transmit the
water is called

(1) Aquiclude
(3) Aquifuge

(2) Aquitard
(4) Aquifer

Among these, which water is known as
fossil water ?

(1) Connate water

(2) Metamorphic water

(3) Plutonic water

(4) Juvenile water

The ratio of the water can be drained
freely from the rocks to the total

volume of the rock is called
(1) Porosity (2) Permeability
(3) Specific yield (4) Specific retention
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' (1) Arsenic

Under mineral concession
terminology, Granite and Sandstone
falls under which category ?

(1) Major minerals

(2) Minor minerals

(3) Industrial minerals

(4) None of these

Which of the followings is a false
statement ?

(1) Gold is a byproduct in copper
mines (Khetri and Singhbhum).

(2) Silver is a byproduct in Zawar
(Pb-Zn) mine.

(3) Copper is a co-product in Rajpura
— Dariba mine.

(4) Manganese is a byproduct in Dalli
Rajhara iron mine.

Jaduguda is known for which of the

metals ore mining ?
(2) Manganese

(3) Uranium 4) Molybdenum

Which of the following terms used for
a mineral, required for defence and
scarce available in the country ?

(1) Rare minerals

(2) Essential minerals

(3) Very important minerals
(4) Strategic minerals

The minimum Royalty to be paid for a
mine is called

(1) Dead Rent
(3) Cess

(2) Surface Rent
(4) Tariff
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: 83.

3)

To what extend, from base line of the
territorial sea, the Exclusive Economic
Zone (EEZ) is measured in nautical
miles ?

(1) Five hundred

(2) One thousand

(3) Two hundred

(4) Two hundred fifty

The richest Thorium deposit is
available in India at

M
(2)
3)

Calcretes of Indian desert
Deep inside the Indian Ocean

East and West coastal sands of
India

(4) Khasi hills (North-East India)

Remote sensing data can be used in

mineral and petroleum exploration,

mapping geomorphology and
monitoring volcanoes.

(1) True

(2) False

(3) False, used only for mapping

geomorphology.
4)

False, used only for earthquake

prediction.

Which of the following is a correct
statement ?

(D
(2)

Devonian is younger than Silurian.

Triassic is  younger  than
Cretaceous.
Oligocene is younger than Pliocene.

Q)

Ordovician is younger than Permian.
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Forests are often referred to as carbon
sinks because

(1) During photosynthesis, carbon
dioxide, the major greenhouse
gas, is taken from the atmosphere
and converted into plant matter
and oxygen.

During photosynthesis, oxygen is
taken from the atmosphere and
converted into plant matter.
During photosynthesis, o0zone,
one of the major greenhouse
gases, 1s taken from the
atmosphere and converted into
plant matter and oxygen.

During plant respiration water is
converted to a major greenhouse
gas, and is converted into plant
matter and oxygen.

)

3)

)

Black cotton soil of India has been
derived from the decomposition of

(1) Deccan basalts

(2) Vindhyan porcellanites

(3) Black beach sands

(4) Black carbonatites

Rudaceous rocks chiefly consist of the
following :

(1) Sand and sand sized material

(2) Silt and silt sized material

(3) Dust, mud and clay

(4) Gravels, pebbles, cobbles and boulders

The alkaline intrusives of Sarnu Dandali
have good prospects of rare earth
minerals. The age of the intrusives is :
(1) Precambrian

(2) Upper Cretaceous to Palaeocene

(3) Upper Proterozoic to lower
Cambrian

(4) Upper Cretaceous to lower
Oligocene

o
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The composition of Bhander group, of
the Vindhyan supergroup is mainly :
(1) Calcareous

(2) Arenaceous and Calcareous

(3) Argillaceous

(4) Arenaceous and Argillaceous

Trilobites were abundant during :
(2) Cretaceous
(4) Cambrian

(1) Jurassic

(3) Pleistocene

Marwar supergroup is comprised of

three groups, namely :

(1) Jodhpur, Bilara and Nagaur

(2) Jodhpur  sandstone,  Nagaur
sandstone and Sanu limestone

(3) Gotan limestone, Sonia sandstone
and Barmer

(4) Jaisalmer, Barmer and Nagaur

Under Environment Policy of India,
India has ‘Wildlife Protection Act’,
which provides for the protection of
wild animals, birds and plants. Mark
the wrong statement.

(1) It extends to the whole of India.

(2) This Act was enacted in the year
1972.
(3) Before 1972, India had five

designated national parks.
Wildlife includes all dangerous
animals but not bees, butterflies,
crustacean, fish and moths; and
aquatic or land vegetation which
forms part of any habitat.

4

‘Mineral Conservation and Development
Rules, 2017 are applicable to which of
the following minerals ?
(1) Petroleum and natural gas
(2) Coal and lignite
(3) Strategic minerals like copper,
lead, zinc
(4) Minor minerals
21
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Which of the following is both major
as well as minor mineral according to
‘Mines and Minerals (Development
and Regulation) Act, 1957 ?

(1) Building stones(2) Gravel
(3) Clay (4) Sand

Drawdown in hydrogeology is

(1) Difference between the water
table and the pumping water
level.

Difference between confined and
unconfined aquifer.

(2)
(3) Difference between pressure and
velocity of groundwater.
Convex surface of the watertable
formed during pumping.

4

RADAR is an acronym for Radio
Detection and Ranging.

(1) Radar is an active form of remote
sensing that operates in the
microwave and radio wavelength
regions.

Radar is an active form of remote
sensing that operates in only the
visible range regions.

()

Radar is an active form of remote
sensing that operates in only the
infrared regions.

3)

Radar is an active form of remote
sensing that can operate in regions
other than microwave and radio
wavelength regions.

4

The relationship between organism

" and environment is known as

(1) Ecosystem (2) Agronomy

(3) Biology (4) Anthropology
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The breakdown of rocks by various
natural agencies in general is called

(1) weathering (2) erosion

(3) deposition (4) mass wasting

The point within the Earth’s crust
where the earthquake originates, is
known as

(1) depth of origin

(2) epicentre

(3) focus

(4) geographical location

A vent of volcano, from which hot
water and steam are periodically
ejected with great force, is known as
(1) Geyser
(3) Solfataras

(2) Fumeroles
(4) Caldera

A deposit of pyroclastic flow, acidic in
composition, formed in hot condition
by welding of tuff is called

(2) Ignimbrite
(4) Sillar

(1) Pumice
(3) Agglomerate

Which of the following is the oldest
mountain of India ?

(1) The Vindhyan (2) The Aravalli
(3) The Satpura  (4) The Himalaya

Who proposed nebular hypothesis ?
(1) Kant and Laplace

(2) Chamberlin and Moulton

(3) Jeans and Jeffreys

(4) Lyttleton

The outer solid portion of the earth,
known as lithosphere, which include

(1) only crust

(2) curst and asthenosphere

(3) crust and mantle

(4) part of the upper mantle and crust
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According to Wegner, the present day
continents were one supercontinent

+ called Pangaea till the end of the

(1) Carboniferous period
(2) Permian period
(3) Triassic period
(4) Jurassic period

Constructive plate boundaries are also
known as

(1) diverging plate boundaries

(2) converging plate boundaries

(3) transform plate boundaries

(4) subduction zone

The lower most layer of atmosphere is
(1) troposphere  (2) stratosphere
(3) mesosphere  (4) ionosphere

The black cotton soil  with
montmorillonite  clay mineral is
yielded by which rock type ?

(1) Basalt (2) Sandstone

(3) Limestone (4) Shale

Match Table-I with Table-II and select
the correct answer by using codes
given below the table :

Table-1 Table-II
A. Barchan 1. Glaciers
B. Meander 2. Wind
C. Esker 3. Groundwater
D. Stalectite 4. River
Codes :

A B C D
(1 1 3. 2 4
2 2 4 1 3
(3) 3 2 4 1
4) 4 1 3 2

What is the mean density (g/cm?) of
whole earth ?

(1) 5.51 ) 2.8

3) 10.7 4) 4.5
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Red sea is present example of
(1) opening up of the sea
(2) saltlake

(3) El Nino effect

(4) Coral reef

Mid oceanic ridges are examples of
(1) Constructive plate boundary
(2) Destructive plate boundary

(3) Conservative plate boundary
(4) Consolidated plate boundary

Which of the following minerals has
the same colour and streak ?

(1) Hematite (2) Pyrite
(3) Tourmaline  (4) Beryl

If Silicon Tetrahedron (Si0,) are

linked by three of their corners, and
extend indefinitely -in a two
dimensional network; which has a
silicon and oxygen ratio 4:10; the
silicate structure is called

(1) sheet structure

(2) double chain structure
(3) single chain structure
(4) framework structure

Beryl belongs to which of the
following crystal system ?

(1) Tetragonal system
(2) Monoclinic system
(3) Hexagonal system
(4) Orthorhombic system

How many faces Rhombododecahedron
is having ? _

(1) twelve (2) forty eight

(3) twenty four  (4) eight
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(1) a,=a,#c
a=B=y=90°
(2) a=b=c
a=p=y=90°
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Which of the following minerals has
different hardness along length and
width ? '
(1) Hornblende
(3) Chromite

(2) Kyanite
(4) Muscovite

A crysal of Gypsum is having

(1) three plane of symmetry, three
axes of symmetry and a centre of
symmetry

_six plane of symmetry, six axes of
symmetry and a centre of
symmetry

only centre of symmetry

one plane of symmetry, one diad
axis of symmetry and a centre of
symmetry
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118. Which one is related to tetragonal

system ?
(1) a,=a,#c
— B —
— b —
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. Among these, which mineral has the
highest specific gravity ?
(1) Garnet (2) Quartz

(3) Apatite (4) Barite
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